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diag) = \/(Xz _X1)2 +(Y. _y1)2 :\/(_1_(_2))2 +(3_(_1))2
J1+16 =17
B (-1,3),C (2,0)

d(B,C) :\/(Xz _X1)2 +(y2 _y1)2
J9+9 =418
A(—Z,—l),C (2,0)

diac) :\/(xz—x1)2+(y2—y1)2
J16+1=4/17
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RS =y +11=6+11=17
RQ =3y —1=3x6-1=17
QS =4y —9=4x6-9=15
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ARST = AABC
RS =AB

5X +20=3x+40
2x =20

x =10
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ARST = AABC
ST =BC

2y —8=y +13
y =21
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P (3,-5),Q (11,0)

d :\/(XZ_X1)2+(y2’Y1)2

J64+25,= {89

Q (11,0)R (1,6)

d =0 —x,) +(y,-y.) =(1-11)’ + (60
J100+36 = 2./34

P (3,-5),R (1,6)

d :\/(XZ_X1)2+(y2_Y1)2

J4+121 =55
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d =0, =x,) +(v,—y.) =(13=5) +(6-1)
J64+25 =/89

Y (13.6),Z (3.12)

d = (X, —x) +(y,—y.) =y(3-13) +(12-6)
J100+36 = 2/34
x(51)z(312)
d =0, =x.) (v, -y,)" =/(3-5) #(@251)
J4+121 = sf
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Q (-5,1),Ri(~ 26)

d = YEI=x,) +(y,-v.)
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P (-3,-3), R( 2,6)
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J1+81= \/82
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Y (3,3),Z (5-1)

d = (=% +(y,—y.) =\(5-3) +(-1-3)°
J4+16 =+/20
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